AddSub-Neg-L1 Answers Set1

Question 1 [25 marks] Question 2 [25 marks]
0. 7 —14=-7 0 2—16=-14
:3—-16=-13 1:5—17=-12
221 —-10= -9 2. 8—-20=-12
329—-13= -4 310 —20 = -10
45 —12= -7 4 1—-15=-14
5 4—12= -8 5 9—19=-10
6: 3—12=-9 6: 6 —16 = -10
7. 4—15=-11 7. 8—11=-3
8 8 —10= -2 8 3—18=-15
9. 9—-13= -4 9: 8 —16 = -8
10: 6 —13=-7 10: 8—14=-6
1m: 7 —14 = -7 1: 5—10= -5
122 1 —-16=-15 122 1 —11=-10
13: 3 —20=-17 13: 9—11=-2
14: 7—10= -3 14: 9—13 = -4
15: 3—17T=-14 15: 1 —16=-15
16: 7 —16 = -9 16: 6 —14 = -8
17: 10 =13 = -8 17: 9—10 = -1
18 2—15=-138 18: 10 =12 = -2
19: 3—19 = -16 19: 6 —12 = -6
20: 2 —13 = -11 20 b — 14 = -9
21: 7 — 14 = -7 21: 9—11 = -2
22 9 — 18 = -9 222 1 =15 = -1}
23: 10 =18 = -&§ 23: 2—13 = -11
24: 1 =12 = -11 24: 9—16 = -7
25: 10 — 16 = -6 25: 10 =10 =0
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AddSub-Neg-L1 Answers Setl
Question 3  [25 marks] Question 4  [25 marks]
0. 6 —12=-6 0 10 -19=-9
:3—-19=-16 1: 8—156=-7
22 8—-19=-11 22 9-12= -8
321 —-15=-14 3:2—-10=-8
4: 2—15=-18 4: 6—-19=-13
5 2—11=-9 5 8—16= -8
6: 10 =17 = -7 6: D—11= -0
7. 2—18 =-16 7.7 —19=-12
8 2—12=-10 8 10 —-13=-3
9: 5—13=-8 9: 7—10= -3
10: 7T—12=-5 10: 10 —20 = -10
1: 3—16=-138 1: 9—-18=-9
122 9—-13= -4 122 6 —12= -6
13: 9— 14 =-5 13: 10 =18 = -8
14: 8 —10 = -2 14: 1 —10= -9
15: 4 —18 = -1} 15: 4 —18 = -14
16: 7T—11 = -4 16: 10 —16 = -0
1 1 =11 =-10 1 1 —-18=-17
18 3 —20=-17 18 1 —-16=-15
19: 6 —13 = -7 19: 3—11=-8
20: 10 — 16 = -6 20: 5 — 17 = -12
21: 9—19 = -10 21: 9 —15 = -0
222 7T—10= -8 22: 6 — 18 = -12
23: 3— 13 =-10 23: 10 — 18 = -8
24: 5 — 16 = -11 24: 10 — 13 = -8
25: 10 — 20 = -10 25: 2—12=-10
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=~
Na

@ s Y ___ N A ~E - R | T ey Y = N~ »»
I I [ I I o, I I I Il I I I I I o I Il I Il I I Il I I I
o — (@) Ne) <t I_I — D D (ap] (&N Ne) D~ D~ - — — D~ © D~ i) — L0 (@) o0 (]
e i A
—~ —~ Y —~ Yy O —~ —~ —~ ~—~ Yy —~ Y Yy —~ ~—~ —~ —~ —~ Y Yy Yy —~ Yy Yy Y
Nej Nej < D 0] — o0 Ne) <t D~ 10O o0 <t o0 (00] <t o A o o0 A <t — 10O 0 <t
DR SR S SR S R SR DL DS DU DG DR DI DR SRR DR DR S R DR DR DS DR DR D
S — N ™ <f Y ) = ) > S — N o) <f ) 3} = ) > S — N ) < o)

— — — — — — — — — — o o (o] (o] [a\] [a\]

~ N ~
PSS N o ~
o T e e o N s o~ NN q s I U
TR T T T T O | T S T T T TR S S R T R
o o Ne) o o0 o o D

<t — — 1O D |T <t o0 — — 0 [a\] o0 n_n — © <t o0 D~ — n_n @\l (@] (aN] o0 1O
+ o+ + + + v s+ oy oy o q
—~ —~ —~ — —~ @) —~ —~ —~ —~ —~ —~ —~ @) —~ —~ —~ —~ —~ —~ o —~ —~ —~ —~ —~
<t L0 — D Ne) — <t [@N] O <t (] (@] <t — L0 o0 D~ Ne) (@] Ne) — i) — D~ <t (ap]
DR RN SR SR SR R SR DR DS DU RS DR DR R DR DR DR SR DR DR DR DR DN DR DR
S — N ™ <f ¥e) o) [\ 0 =3 S — N ™ <f ¥e) o) = 0 = S — N ) <f Yo}

add_-10to-1_1to10

add_-10to-1_1to10

7 September 2014

005



Setl

Answers

AddSub-Neg-L1

25 marks|

Question 8

25 marks|

Question 7

0: (—8) +4=-4

1 (=5)+5=10

L(=2)+4=2

2 (=1)+9=28

2 (=5)+9=/4
3: (-5)"‘3:-2

5 (—4)+7=23

4 (—4)+1

4 (=3)+8=135

5: (-7) +1=-6

6: (—=3)+2=-1

6 (—1)+10=9

7 (=9) +10 = 1

7 (—4)+T7=23

8: (-7) + 5

8: (—8)"‘1 = -7

9 (-1)+4=2

10: (=5)+10=15

10: (—].0) + 1 = -9

1 (=7 +9=2

1: (—6)+2=-4

122 (=8)+2=-6

122 (—4)+1=-3

13: (=1)+10=9

13 (—=6)+7=1

14: (=9)+1

u: (=7)+9=2

15 (=b)+7=2

-2

15 (—10) + 8

16: (—9)+6

16: (—2)+3=1

1 (=5)+5=10

-5

17: (=10)+5

18 (—=8)+10= 2

18 (—3)+1

19: (=5)+10=25

19: (-1)+2=1

200 (—=2)+1=-1

200 (—2)+1=-1

21: (—1)4+10=9

21: (—9)+8= -1

4

23 (—=8)+1=-7

22: (—9)+5

22: (—6)+7=1

23 (—10) +2= -8

24: (—2)+3

24: (=3)+3=10

-3

25 (—10)+ 7

25: (—5)+6 = 1

add_-10to-1_1to10

add_-10to-1_1to10

7 September 2014

005



Setl

Answers

AddSub-Neg-L1

25 marks|

Question 10

25 marks|

Question 9
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Question 11 |25 marks] Question 12 [25 marks]
0o 1+ (=1)=0 0: 3+ (=3)=0
1 3+(—-1)=2 9+ (=2)=7
2 64 (—6) = 0 2 8+ (=3) =5
5 54 (=9) = -4 3 24 (—=3) = -1
4 14+ (=6)=-5 4 3+(-1)=2
5 24 (—6) = -4 5 7T+ (=2)=195
6 14 (—8) = -7 6 1+ (—3) = -2
710+ (=3) = 7 n 84 (=3)=5
s T+ (=5) =2 s T4 (—10) = -3
9: 94 (-3)=6 9: 10+ (=3) =
10: 10+ (=3)=7 10: 54 (=7)=-2
110+ (~2) = 8 A+ (—4) =0
122 1+ (—6) = -5 122 64+ (=3)=3
13: 34+ (=3)=10 13: 74+ (=9)=-2
14 6+ (—10) = -4 1 14 (—4) = -3
15: 24+ (=2)=0 15: 4+ (=7)=-8
16: 84 (=7) =1 16: 94 (—6) =3
1 9+ (=8) =1 17 84 (—10) = -2
18 104+ (—4)=6 18 14+ (—=6)=-5
19: 2+ (=3) = -1 19: 104 (=3) =
20: 3+ (—H) = -2 20: 2+ (—10) = -8
21: 14 (—3) = -2 21: 14 (—=6) = -5
22 T4+ (=7)= 10 22: 8+ (=7) =1
23 6+ (—10) = -4 23 9+ (=5) = 4
24: 7T+ (—10) = -3 24: 34 (—6) = -3
25: 2+ (=7)=-5 25: 10+ (—9) = 1
add_1t010_-10to-1 add_1t010_-10to-1
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Question 13 |25 marks] Question 14 |25 marks]
0: 6+ (—6)=0 0: 5+ (—10) =-5
16+ (=2) = 4 11+ (~10) = -9
2 24 (=3) = -1 2 14 (=7)=-6
3 104+ (=5) =195 3 10+ (=3)=7
& A+ (—6) = -2 £ 10+ (—4) = 6
5 8+ (—8) =10 50 10+ (—4) =6
6 4+ (—d)=0 6 24 (—10) = -8
7. 44 (=5) = -1 7. 10+ (=9) = 1
8 9+ (—6)=23 g 10+ (=3)=7
9. 14+ (—6)=-5 9 1+ (=1)=10
w0: 1+ (=7)=-6 10: 6+ (—9) = -3
11: 24 (—=6) = -4 1: 14 (=2) = -1
12: 54 (—6) = -1 122 6+ (1) =5
13: 5+ (—4) =1 13: 4+ (—4) =0
0 9+ (—4) =5 14 54 (=10) = -5
15: 4+ (—=8) = -4 15: 5+ (—1) =4
16: 5+ (—2)=3 16: 10+ (—10) =0
1 T+ (=7)=0 17 10+ (=7) =3
18 3+ (—8) = -5 18 7T+ (=3) =4
19: 24 (—3) = -1 19: 24 (=7)=-5
20: 34 (—=5) = -2 20: 64 (—=3) =3
21: 1+ (—=3) = -2 21: 10+ (=2) =8
22: 10+ (—6) = 4 22: 44+ (—1)= 3
23: b+ (—2)=3 23: 10+ (—2) =8
24: 9+ (—4) =5 24: 84 (—9) = -1
25: 4+ (—3) = 1 25: 10 4+ (—6) = 4
add_1to10_-10to-1 add_1to10_-10to-1
005 7 September 2014 7



AddSub-Neg-L1 Answers Set1
Question 15 |25 marks] Question 16 |25 marks]
0 1+ (=7)=-6 0: 9+ (—10) =-1
L9+ (—10) = -1 LT+ (=9) = -2
294 (—4)=195 274+ (-1)=6
3 24 (=7)=-5 3 34+ (—4) = -1
4: 14 (=5) = -4 4 6+ (—4)=2
5 104 (—4) =6 5 84 (=3)=5
6: 5+ (—4)=1 6: T+ (—4)=3
54 (—1) = 4 7 3+ (—6) = -3
8 34+ (—=9)=-6 8 64 (—=5) =1
o 4+ (—8) = -4 0. 8+ (—2) = 6
10: 10+ (=7) =3 10: 84 (—6) =2
w14 (=7) = -6 1 A+ (—8) = -4
122 44 (—4) =0 122 14 (=6) = -5
13 5+ (=2) = 3 13 5+ (=10) = -5
14 94 (=7) = 2 A+ (—1) = 3
15: 4+ (—6) = -2 15: 4+ (—4) =0
16: 8+ (=3) =15 16: 54 (=5) =0
1 84 (=7) =1 1 64 (—4) =2
18: 2+ (—10) = -8 18 1+ (—4)=-3
19: 74 (—10) = -3 19: 14 (=8)=-7
20: 3+ (—9) = -0 20: 1+ (—3) = -2
21: 6+ (—10) = -4 21: 84 (—8) =0
22: 3+ (—9) = -0 22: 1+ (=9) = -8
23 44 (—=5) = -1 23: 10+ (—9) = 1
24: 2+ (—4) = -2 24: 24 (=7)=-5
25: 4+ (—9) = -5 25: 1+ (—10) = -9
add_1to10_-10to-1 add_1t010_-10to-1
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Setl

Question 25 |25 marks]
02— (—6) =8
14— (=5) =9
29— (—6) = 15
51— (—10) = 11
£ 3—(—4)=7

72— (=7)=9
87— (—4) = 11
02— (=5) =7
01— (=5) =6
1: 8 — (—10) = 18
12: 9 — (—10) = 19
13 6— (—9) = 15
1410 — (=7) = 17

15 8 — (=5) = 13

16: 10 — (=7) = 17

16— (—1) =7
18 2— (—4) =6
19: 4 — (—6) = 10
20: 4 — (—10) = 14
21: 8 — (—6) = 1/
2: 2 — (=7) =9
23 4 — (—6) = 10
24 1— (—8) =9
25 7— (—9) = 16

sub_1to10_-10to-1

Question 26

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks|

8—(—9)= 17
4—(-4)=38
5—(—4)=9
10 — (—6) = 16
5— (—6) = 11
8—(—9) =17
10 — (—4) = 14
2 (=8) =10

1—(=6) =7
10 — (—3) = 13
3—(—10) = 183
2 (-1)=3
3—(—10) = 183
9—(—4) = 13
2 (=5)=7
3—(=7)=10
4—(=6)= 10
6-—(-3)=29
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Question 28
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AddSub-Neg-L1 Answers Set1
Question 29 |25 marks] Question 30 [25 marks]
0 94+0=9 0. 6+4=10
:1+10= 11 1 943 =12
2 3+1=/ 2 4+ 6= 10
5 (—4) +0= -4 5 4+7= 11
4 (=3)+5=2 4 3+ (—6)=-3
5 (—=5)+6=1 5 (—10) + (—8) = -18
6: 4+3=7 6: 2+5=17
44 (-2) =2 . (=5)+(-9)=-14
8 (-1)+7=6 8 24+ (=9)=-7
o (—1) + (—3) = -4 5 0+3=3
10: (=3)+(=1) = -4 10: (=5)+(-9)=-14
w1+ (~1) =0 1 (—10) +3 = -7
122 14+ (-9)=-8 12: 3+ (—10) = -7
3 4+ (—10) = -6 13 (—10) +7 = -9
14 6+ (—6) = 0 1 (—1) + (—4) = -5
15: 5+ (—4) =1 15: 046 =
16: (—9)+ (—4) = -13 16: 10 +4 =14
i (1) +(=1)=-2 i (1) +4 =
18 (-1)+8=17 18 9+ (—4) =5
19: 44+4=8 19: (—8)+2=-6
200 (—3)+(—2) = -5 20: (—6) +8=2
21: 6+ (—10) = -4 21: 1+ (=5) = 4
2. 34 (—10) = -7 2 (—6) + (—1) = -7
23. (=T)+7=10 23: 2+2=4
24: (=5) + (—2) = -7 24: 10 +3 =18
25 (—=7)+9=2 25: 10 +1= 11
add_-10t010-10to10 add_-10t010-10t010
005 7 September 2014 15



AddSub-Neg-L1

Answers Setl!

Question 31 |25 marks] Question 32 |25 marks]

0 (—9) + (—8) = -17
1: 34+ (—4) = -1
2 (—=6) 4+ (=7)=-13

3 14+0=1

4 (—=6) +(-2) = -8

5 (—10) 4+ (—1) = -11
6 9+6=15

7. (—6) 4+ (=5) = -11
8 (—2)+ (—4) = -6
9: 94+ (—-1) =8

10: 04 (=7) = -7

1 8+4=12

12: (—=3) 4+ (—10) = -13
13: (—10) +6 = -4
4 7T+4=11

15 (—6) +2=-4
16: 10+3 =13
1 14+9= 10

18 (—6)+6=10
19: 10+ 1= 11

20: 10+ (=3) =7
21: (=7)+10=3
222 24+7=9

23 7+ (—=8) = -1
24: (=1)+1=0
25: 94 (=7) =2

add_-10to10--10to10

0: (=9)+(-2)=-11
1 (-2)+2=

2 1+9=10

3 (—=6)+9=23

4 (=8)+ (1) =-9
5 (—6) +4=-2

6: 64 (—8) = -2

7 5+9=14

& 0+7=7

10: 3+ (=3) =

1: (—2)+4=2

122 04+10= 10

13: (=2)+(-1)=-8
14: (—2)

15 8 4 (—10) = -2
16: 7+ 6

17: 14 (=5) = -4
1 3

18 (=7)+10 =

19: (=7)+(=8)=-15
+(=5)=-9

21: (—8)+2=-6

(
)
)
20: (—4)
)
22: 0+ (—8) = -8
23: 6+ 0

24: 94 (—6) = 8
25: 94 (—4) =5

add_-10to10--10to10
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Question 33 |25 marks] Question 34 |25 marks]
0 0+0=0 0: (—8)+ (—6)=-14
:(=9)+1=-8 1 6+ (—6)=0
2 (=9)+(=3)=-12 22 54 (1) =4
3 7T+ (—=6)=1 3 (—4)+2=-2
1 (=6) + (—4) = -10 £ 4+ (-1)=23
5 (=9)+(=5) = -14 50 (—4) + (—10) = -14
6: b+2= 6: b+ (—4) =1
7 10+ (—4) =6 7 (=T)+ (—4) = -11
8 44+3=17 8 (—8)+2=-6
9. 3+2=15 9: (—4) + (=8) = -12
10: (=9)+(=1)=-10 10: (=8)+(—1)=-9
11: (=10) +6 = -4 1 (=1) 4+ (=7) = -8
122 54+2=7 12: (=9) 4+ (=3) = -12
13: (=8)+5=-3 13: 04 (=5) = -5
14 142 = 14: (—2)+4=2
15 (=3)+3=10 15: 10+ (=5) =5
16: (=7)+ (=7)=-14 16: (—6) +5 = -1
17 (=2) + (=9) = -11 1. (=1)+ (=5) = -6
18 44 (-2)=2 18 7T+ (-2)=15
19: (=2) +(=2) = -4 19: 843 = 11
20: (—3) 4 (—10) = -13 20: (1) +6=135
o1: 84 (=1) =7 o1 10+5= 15
22: (—10) + (—1) = -11 22: (—10)+7=-3
23 1040 = 10 23 0+ (—1) = -1
2a: (—8) + (=7) = -15 24: (—10) 4 (—10) = -20
25 (1) +1=0 25: (—8) + (—10) = -18
add_~10t010_-10t010 add_~10to10.-10t010
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Question 35 |25 marks] Question 36 |25 marks]
0. 1410 =11 0 (—2) + (=9) = -11
L (=2)+9=7 L 24 (=) =5
2 104+4 =14 2 34 (—4) = -1
5 241=3 5 (—4) +6=2
4 (=9)+4=-5 4 54+0=105
5 (=2) + (—6) = -8 5 10+ (—6) = 4
6 0+10= 10 6 (—2)+(—2) = -4
724 (—1) = 1 n 84+ 4= 12
8 94+ (=9) =10 g 10+ (=7)=23
9: 9+ 7= 16 9: (=3)+ (—=8) = -11
10: (=1)+(=5)=-6 10: 44+ (=2)=2
1: (—4) + (—6) = -10 1: 44 (=7)= -3
12 (=3) 4+ (—=5) = -8 12: (—4)+1=-3
13: 64+ (—6) =0 13: (—6)+8=2
14: (=3)+10=7 14: 64+5= 11
15 (=8)+ (-1)=-9 15 54 (—10) = -5
16: 9+1= 10 16: (—5)+(—4) = -9
17 (=7)+6=-1 17 (=9) 4+ (=3) = -12
18: (—2)+8= 18 5+10= 15
19: 7+9 =10 19: (—=6) + (=1)=-7
200 (—2) 4 (=3)=-5 20: 10 + (—6) = 4
o1 (=3) + (=7) = -10 o1 34 (—1) = 2
222 0+5=19 22 1 +2=23
23: T+1=28 23: 24+0=2
24: (—1)+7=6 24: (=7)+ (—4) = -11
25: 3+ 1=4 25: (—3)+5=2
add_-10t010-10to10 add_-10t010-10t010
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Question 37

0: 2+3:5

25 marks]

19+ (—10) = -1
2:

(
3: 4

10:
1: (—4
122 0+
13: (=8
14: 44
15: (=5 —7)=-12
16: 1
17 (=3) +

18 (=3)+ (—8) =-11
19: (—6) +

20: 6+ 4

21: (—3)
2 (=5)
25 (—1)
21 3+ (
25 6+ (

add_-10to10--10to10

Question 38

0:
1:

2:

10:
11:
12:
13:
14:
15:
16:
17:
18:
19:
20:
21:
22:
23:
24:

25:

25 marks|
(—10) +6 =-4

1+1=2

(=9)+5=-4

(—8)+5=-3

10+0= 10

7+10= 17

1+1=2

4+(-1)=3

440=4

1+ (-9) = -8
34 (=10) = -7
T+1=38
7T+10= 17

(—8) + (=8) = -16
(—6)+5=-1
3+5=38
(=3) + (-5) = -8

add_-10to10--10to10
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Question 39 |25 marks] Question 40 [25 marks]
0 (~9)—0=-9 0 4—2=2
L (=7) = (=9) = 2 1 3—1=2
2 (=2) = (=9) =7 2 4-9="-5
310 — (—4) = 14 3 (=2) =10 = -12
b (=8) = (=9) = 1 £ 0—d= -4
58— (=T7) = 15 50— (=2) =2
6 (—5)—3=-8 66— (—1) =7
7 (=3)—2="-5 7 (=9) = (=7) = -2
s (—1)— (1) = s T—1=6
o (=3) — 10 = -13 0 10 — (=9) = 19
10: (—4) = (=2) = -2 0: (=7)=T=-14
1 (=3) — 10 = -13 12— (—4)=6
12 6—(—3) = 9 12 9— (=7) = 16
189 — (—6) = 15 13 8—1=7
1 (1) =9 = -10 1 2—9=-7
15 (—10) — (=8) = -2 15 (—9) — 10 = -19
16 6—2= 4 16 (—6) —9 = -15
17 (=8) —4 = -12 17 (=1) = (—=10) = 9
15 (1) — (=9) = & 18 7= (=7) = 14
19 T—5=2 19 7— (—10) = 17
20 (—4) — (—10) = 20: (—10) — (—9) = -1
o 8—2= 6 o1 (—10) — (—6) = -4
2: 2 — (=8) = 10 2. 6 — 8 = -2
2. (—9) —8 = -17 24— 8= -}
21 (—6) — (—5) = - 2 9 — (—4) = 13
25 (—5) — 9= -1 25 (—9) — 10 = -19
sub- 101010101010 sub - 101010101010
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Question 41
o (=9) —(-2)
1 (=2) = (=6) = 4
28— (=7) =15

10: 2 — (=8) = 10
1: (=2)—(—4) =2

12: 2—10= -8
13:1—-—1=20
14: (—4

16: 7 —
17 (=9
18: 0 —
19: 4 —

20: (—4

22: 3 —
23: (
24: 0 —

25 9 — 6 =

sub_-10to10_-10to10

)
15: (=9)—6=-15
9

)
(
(
)
21 (=5) — T =-12
(
)
5

25 marks] Question 42

0: 9 — (—10) = 19

L (—8) = (=3) = -5

2. 10—-3=7

5 10 — (=5) = 15

10: (—4

12 (=5

)
)
)

1: 8 — (—5) = 13
)

134 —(—10) = 14
)

14: (—4)—10=-14
15 (—10) — 8 = -18
16: (—6) — 0= -6
17 (=9) —3=-12
18 (=9)—1=-10
19: (=9)—5=-1
20: 5 —3 =2

21: (—1) =5 =-6

sub_-10to10--10to10
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Question 44 |25 marks]

25 marks]

Question 43

0:2—-0=2

09— (=2)=11

. 1—-4=-38

21— (—6)=7

6—-4=2

3:

20— (=3)=23

i (=7)—9=-16

-16

5: (—9) -7

6: 1 —(=7)=38
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Question 45 |25 marks] Question 46 |25 marks]
0 (—10) — (=10) = 0 0 (~1)—4="-5
L 8—5=3 LT (=8) = 15
2 (=5) — (=9) = 4 2 8—1=7
38— (=9) = 17 35— (~8) = 13
£ (=3)=T=-10 £ 0—(=7) =7
5 9—8=1 5 (—4)—9=-13
6 2—4=-2 63— (—4) =7
r (=4)—3=-7 7 (=5) = (=2) = -3
s (—10) — 6= -16 5 (=6) — (=9) = 3
0 (=5) — (~8) = 3 02 0-0=10
0 1—5=-4 10: 3— (—8) = 11
e (—4) = (<9) = 5 e (=7) = (=5) = -2
12 (—6) — 10 = -16 12 5—7= -2
13 10— 10 =0 13 (—9) = (=9) = 0
10— (=3) = 3 1 T—5=2
15 (—2) —d = -6 15 6— (1) =7
16 (=1) — 0= -1 16 (—9) — (—10) = 1
7 6—1=35 17 (=9) — (=5) = -4
180 — 10 = -10 15 (=2) =7 =-9
19: (=3) — (=5) = 2 19: (—9) —3 = -12
2. 10—1=9 20 (=2) — (=2) = 0
o1 (=1) — 6 = -7 o1 (—3) — (—4) = 1
2 (—8) — (=5) = -3 w (—2)— (=3) = 1
2% 2—5=-3 2 6-3=3
2 0—0=0 2. T—(=2) = 9
e (—1) = (~1) = 0 5 (—4) = (—5) = 1
sub_- 101010101010 sub - 101010101010
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Question 47 [25 marks| Question 48 [25 marks]

0: (—6) — (—5) = 0 (—4) — 6 = -10
1 (—6) — (=8) = 2 1 (=T)—8=-15
2 (=1)—6=-7 2 (=2)—3=-5

5 (—2) = (=2) =0 5 10 — (—2) = 12
£T7—2=5 i (=7) = (=10) = 3
5 1—T=-6 5 (=5) — (—4) = -1
64— 0= 6 (—10) —8 = -18
7 6—4= 7 1-0=1
85— (—6) = 11 s 8 — (—10) = 18
o (=7)—6=-13 o: (—5) — (=2) = -3
09— (=2) = 11 100 (=5) — (—4) = -1
1 (=2) — (—4) = 2 1 4-1=3

122 3-3=0 12: 0 — 0 =

13 (—6) — 6 = -12 13 (=5) — 7= -12
1 (=7) =10 = -17 43— (—=6)=9

15 2—7=-5 15 (—9) — (—3) = -6
16 8—1=7 16 7—9=-2

17 (—8) —2=-10 17 5—4=1

18 (—4)—4=-8 18 10 — (=5) = 15
19: (—6) — 8 = -1/ 19: 0—7=-7

20: 5—10 = -5 20: 6 — (—4) = 10
21: 6 — (—10) = 16 21: 4 — (—6) = 10

22: (—9) — (—=8) = -1 2 8 —2=0

23 (—6) — (—8) = 2 23 4—5=-1

21 (—6) —0 = -6 24 9 — (—3) = 12

25 8 — (—6) = 1/ 25 (—5) — 3= -8

sub 104010101010 sub~10t010-10t010
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